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Big Book 3 Midterm Test

Units 01-10

A. Choose the right answer to fill in each blank from the box.

courage blackout floods disappeared gold
owners jealous supplies absorbed wealthy

10.

. The cowardly lion wanted

. They became because they had learned their trades well.

He ordered huge sea monsters to cause

Hera was and angry, and she tried to harm Hercules.
. Most dinosaurs about 65 million years ago.
The solar explosion is going to cause a global

It rained so much that rainwater could not be into the ground.

Slaves had to work for their

. The value of paper notes was based on the value of and silver.

The Pilgrims did not have good food or

B. Match each word or phrase to its correct definition.

11

. wicked . * a.to finish making or doing something

. Clever . * b.aperiod of 100 years

. ancient . » c.tostop being together, joined, or connected
. complete . * d.intelligent and able to learn things quickly

. carnivore . * e.the activity of gathering crops

. explosion J e f.the money that a country uses

. century . e g.veryold

. separate . e h.asudden, violent burst of energy

. currency J * i.an animal that eats meat

. harvest . * j.morally bad
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C. Read and answer.

[21-22]

Dinosaurs

Dinosaurs were a special kind of creature that lived on the earth about 230 million
years ago. They came in many shapes and sizes. Some dinosaurs were as tall as a five-
story building. Others were as small as a chicken.

Dinosaurs had different diets. Carnivores were meat eaters. Herbivores were plant
eaters. Omnivores ate both meat and plants.

Carnivores and herbivores looked different. Carnivores needed sharp teeth to rip
and fear flesh. They had strong hind legs and smaller forelegs. They walked upright.
Herbivores needed flat, wide teeth to grind plants. They had wide, heavy bodies, and they
walked on four legs.

Herbivores had larger intestines than carnivores. The reason why herbivores had
larger intestines was that they ate larger quantities of food. Plus, plants are more difficult to
digest than meat.

Most dinosaurs disappeared about 65 million years ago, but scientists are not sure
why. Some scientists believe that a meteor hit the earth. Others believe that dinosaurs
couldn’t survive the earth’'s changing climate, and other scientists believe many volcanic
eruptions killed the dinosaurs. Scientists are sfill looking for answers.

21. What is the main idea of the last paragraph?
a. Dinosaurs lived on earth 65 million years ago.
b. Dinosaurs ate lots of different things.

c. Volcanoes are very dangerous.

d. Scientists sfill don't know why the dinosaurs disappeared.

22. Read and choose the correct answer.

Dinosaurs were a special kind of

a. herbivore b. scientist

c. creature d. carnivore
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[23-25]

Hercules

Did you know that Hercules was the strongest man in the world2 He was half god
and half human. Hercules was the son of Zeus and Alcmene.

Hera was Zeus's wife. She was jealous and angry, and she fried to harm Hercules.
When Hercules was a baby, Hera put two snakes in his crib, but Hercules was not afraid.
He played with the snakes. Hercules thought that the snakes were toys!

When Hercules grew up, he completed twelve great feats. One feat was to kill the
Nemean lion. The Nemean lion was not an ordinary lion. It was a giant creature, and
spears and arrows could not hurt it. So, Hercules killed the lion with his bare hands, and he
took the lion’s skin for his cloak!

When Hercules grew up, he completed twelve great feats. One feat was to kill the
Nemean lion. The Nemean lion was not an ordinary lion. It was a giant creature, and
spears and arrows could not hurt it. So, Hercules killed the lion with his bare hands, and he
took the lion’s skin for his cloak!

It was too hard for Hercules to defeat the Hydra by himself. So he asked his
nephew lolaus for help and the Hydra was defeated.

23. What is the main idea of this story?
a. Hercules didn't like snakes.

b. Hercules was very strong.

C. Hercules's cousin was very kind.

d. Hera was jealous of Hercules.

24. What is false according to the reading?
a. Hercules defeated the Hydra by himself.
b. Zeus was Hercules's father.

c. Hercules killed a lion.

d. The Hydra had many heads.

25. What is the name of a piece of clothing that doesn’t have sleeves?

a. crib b. spear C. arrow d. cloak
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D. Read and write.

The Three Brothers

There was a poor man who had three sons. The man loved his sons very much. He wanted to
leave them something when he died, but all he had was his house.

The man told each of his sons fo learn a frade. The son who was most skillful would get the
house, so each son became very skillful.

One son became a barber. One son became a blacksmith. One son became a fencing
master.

One day, the three brothers showed their skills. The barber shaved a running hare. The
blacksmith put new shoes on a running horse. And the fencing master waved his sword so quickly over
his head that he stayed dry when it rained.

When the father decided that the fencing master was most skillful, the other brothers agreed.
So, the father gave him the house.

The brothers were very clever. They became wealthy because they had learned their trades
very well, and they lived together in the same house because they loved each other so much.

The three brothers lived happily together for a long time. When they got older they died, and
they were buried in the same grave.

Complete the sentence with the correct words from the reading.

26. One son became a . One son became a . One son became a master.

27. The three brothers lived together for a

Correct the underlined part and rewrite the sentence.

28. There was a rich man who had three sons.

29. The son who was most handsome would get the house.

30. The brothers were very happy.




